_I—' = L— T —™ Name: Date:
— J I — 1 Teacher: Class:
M [ —] : :
— [ ’_’J _I—I_J Find the Secret Trail 207
| — 1
L I_ I What is gray, has a trunk and weighs about 5 pounds? A
J . ‘ T = mouse going on holiday.
1 — — : — Find the trail of numbers that end in the number in the
Finish square. Make only vertical or horizontal moves.
4 5 0 Start 15 3
stat | 16 4 4 4 4
5 4 4 1 3
1“ — Finish 4 22. — Finish
4 4 3 2 0)
2 2 3 Start 12 o)
Start 10 2 1 3 1
3. — Fnish | o 4. —  Finish
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Score:




_I—' = L— T —™ AnswerKey Date:
— 1 L. T~ || Teacher: Class:
M [ — : :
— [ L L] | | Find the Secret Trail 207
| | r.
- What is gray, has a trunk and weighs about 5 pounds? A
J - v . I_ 1 mouse going on holiday.
1 — — — Find the trail of numbers that end in the number in the
Finish square. Make only vertical or horizontal moves.
4 5 0 Start 15 3 1
start | 16 4 4 4 4 5
5 / 3 T
1 . Finish A 2 . Finish l
4 4 3 2 o) 3
2 3 Start 12 o) 3
Start 16 7 1 2 1 T
3. — Fnish | 4. —  Finish £
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